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Test 1 Name: o ¥ dvop

Dusty Wilson o

Math 098 There'lf be plenty of time to rest in the grave.
. _ . Paul Erdds (1913 - 1956)

No work = no credit Hungarian mathematician

No Symbolic Calculamrs

3 “ pih I e J
Warm-ups {1 pt each): (—3)2= A -3?= -4 0 Jheeriae o
1.) {1 pt) According to Erdds (see above), where should we catch up on sleep?
T dee gepg

(W
2.} {4 pts} Do the following tabie, graph and words describe a functional refationship? Circle your

answer YES/NO. If NO, provide an explanation or circle the features you used to maks your decision.

a.) 0. ) ¢.) lseach student’s
e ey ' bank/credit card number
1 7 N AN a function of their student
(L 5 g el ID number? :
[ 3 9 “‘“‘“.;;“i'}( - N E.:': T )
Bt | e
;‘ 5 7 e

R

is y a function of x?

~ £ P
Ge§ No LYES] NO YES {NO{\}‘

3.) (10 pts) Find and simplify the following function values of g (x}=3x" ~4
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4.) {7 pts) Using the given.graph, answer the following:

a.} Evaluate [{2} ¥

i S

[ e M- .
b.} Soive f(x)m]. | TS e

I
o t

IR j

B

c.} Estimate the zerofs) of f?

d.) Write the domain of fin interval
notation.

e.} Write the range of fin interval notation

N M
: .{__'-2_‘}

A

5.) {8 pts) Graph f(x) = x* =3x° —x~6 with the window [-3,3]x{-15,10]. Find the zero{s), domain,

and range of this polynomial to the nearest hundredth {two decimal places).

Carefully copy the graph inte the box. Make sure to sketch it with the given window.

zerofs) graph
o -y P
. & [ f:s:» e .;J*ﬁ'i .
Y B
domain {any notation) . Y !
range {any notation} Ty
™ g s N -
[t P S
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6.} {8 pts) Consider 6x" —4x” +12x" —18x" +8x"

2.} Write in descending order

oy ' e ; Lo b
L e s T
L g 4 a ‘_’j - b Ey I ST

{ o
"} .

b.) What is the degree of the given polynomiai: __°

¢.) What is the leading coefficient of the given polynomial: V2

Y

d.) What is the GCF of the given polynomial: __ < ¢

7.1 (8 pts) Add/subtract and simplify

a.} (43/‘2 +3y -2)+(~y2 +5y+ 6)

- q
< . o i
g {»f : g et

£

by (Sc+6/-Tg)—(4c+dg—4))

&/ | /5\/-\\ Solution: -
7

L A 5~i
Ve POy - L

8.) {12 pts) Multiply and simpiify

a) {2¢+3){49-5)

bat o Lo Solution: w*
2
by (2Zw-35
" (2%-5)
e . .
1
Ak : Solution:

e . ‘ A S SR
T P = R BT R

4 VT2 Sotution: -
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9.) (16 pts) Factor completely

) S ——— |
H | 1
; ha Sl;t'w ( 2ol 4 I %

et

c) 6+1—17 d) x + 55" —50x7

i : .
T I S \
i

< o
5, o

11.) {4 pts) Factor xy 4+ xz 4+ wy+ wz by grouping, if possible, and check..

Cinec

PR

ot A
4 ;

i

o et R AT AT
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12.) (12 pts) Solve

a.) 45‘3{2 r4x

Solution: v

S
Solution: beot v,k

Py - s
\f‘ \ ¥ 3 ] f\{

/ 4

[

. 4

"
Solution: -y T A

M Page 50f5
-






Test 1 _ Name: ey G
. F EY)
Dusty Wilson
Math 088 There'fl be pienty of time to rest in the grave.

e
Paul Ercds {1913 - 19956)

No work = no credit Hungarian mathematician

No Symbolic Caleulators

oy

Warm-ups (1 pt each): (-3 )2 = —3%= =& e = bty P

1.} {1 pt) According to Erd&s (see abovej, where shouid we catch up on sleep?

1 dhe  Gemee
s

2.} (4 pts} Do the following table, graph and words describe & functional relationship? Circle your
answer YES/NO. If NC, provide an explanation or circle the features you used to make your decision.

a.) 0. ) ¢.) ls each student’s
T ’ bank/credit card number
1 7 o R a function of their student
2 8 | / 1D number?
IL{ 4 8 Tj E“;g}-‘:u&’; i
5 7 . < - fes
ts ¥ a function of x?
Ny noo v
yed N (Ved no
3.) {10 pts) Find and simplify the following function values of g(x) =33 ~4
4 m% &5 ) ™
Sy -H Y
a} g(5) o) g(—1) @
H -}
SR |
o o gla) Blay- M d) glath) &
WG kg = 7Y
B DN e e
e.) g(a%—i’l)“ﬁ(ﬂ) L ihan ¢ Bk

| 2
| A e
Pagelofs ? @WW.




4.} {7 pts; Using the given graph, answer the foliowing:
a.) Evaluate f(2) b
.7

b.) Soive f(x)=1 ' : : e -

|38

540

c.} Estimate the Zero(s} of f?
'

d.} Write the domain of fin interval
notation.

(1.9
&ht,g

e.) Write the range of fin interval notation

ézs Pﬁg .

5.) (8 pts) Graph f(x) =x* —317_2 —x~0 with the window [-3,3]x[-15,10]. Find the zero(s), domain,

and range of this polynomial to the nearest hundredth {two decimat places).

Carefully copy the graph into the box. Make sure to sketch it with the given window.

zero(s) % graph

domain {any notation)

4

range {any notation)

5

— 7
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6.) {8 pts) Consider 62 —4x" +125" 1857 +.8x"

a.) Writein descendmg order
Ted P g L

b.}] What is the degree of the given polynomial: ]

c.} What is the ieading coefficient of the given polynomiat:

y
d.) What is the GCF of the given polynomiat: 52 £

) o L.
Solution: - “nf 4
o

TR,

b.) (8c+6/-T7¢g) %04-40 47)

Y &
Vir 4oy~ 1o ~Mo Y Y
a4 wﬁ ﬁ : Y
Yo tioy e thg
o 3 Solution:

8.) {12 pts) Multp!y and simplify
Der—

a.) (3 )(4q—5)

o,

Solution:

Solution:

id } . EE G
i, 4y~

Solution:

Rl -
e & -
WO by

A
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8.} (16 pts) Factor completely

a) v +6v=27 b.) 85" +4b
JM' - . l?f}‘. w%} (‘P "21_ E_ . . £ P
i};%ﬁ,ﬁf 4 9 ,§ {v Lé = o ﬁ;’yé“ﬁm bt },

B
-

[wl

<

+

AR

d) x* +5x7 - 5057

10.) {4 pts) Determine the zeros (if any) of the function f(x)=3x+12.

% M
TIES YA
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a) 45—x" =4x

12.) (12 pts) Solve

PERY
W BT

T
=

tution:

20

Soiution:

B e w
. 5% )
o 3 f ety
o s ’ il
5 g < %I.w =y wi
gty i H ,m.\w # h‘u
e e i : £
wip i ) 3 <
e - J%E. -
i - i
Ll [ hing
P SR
=i ;

b Sx(6x+7){x—8)

Solution:
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